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DDDD@DDDDDDDD,sme>0.DDDn>OZDDDD,0D (17000000,0000
0 (13)00000000000000000. 0 (15000000000000000,00000
000000000. 00000000000000000000, cosf00 cos?, cos 225, cos 22
000000000,00000000cs00000000000000000OOO0OOO.
0000000000,2°-A=0000000000000000(0000000000000), cos

ooooo cosDDDD,x:cos%DDDDDDDDDD,

cos 360 = 4cos®f — 3cosb
0

0
cosf = 4 cos® 3 —3cos§

oo,

42° — 3z = cosf (18)

000000000000000. 0000 D>000000000000000(0O00000 cosfO
0000), 00000 (18)D0000ooooooon.
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gooobooobooobooobo,0obooboobooboo
2 +ar+b=0 (19)

000000000000, (190000z=A/0000,0000000,A0000000, (19)0
(18) 00O,

42 —32' —¢c=0 (20)
00000000000.00000000 (19) 0

Nz 4+ dazr' +b=0

(4= )3
-3=Xa
[ —c=1b
4 /\3
1=—
! 3 A b
[_TAe A _TAe 7D
3 3 c
T
\ c
ooo,
—4b —a
M= A=2y/—
3’ 3
ooooo.
—b
—4b 9
TN T T
27
b2 3
(19)DDDDDDDDDDDD,‘Zg%DDD,|C|§1.DDDc:cosBDDODDDDDD.

0000000 (20000,

0+ 271 Cost9+47r
3’ 3

z' = cos 3 Cos

googd

ooo.
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2.2.3 Lagrange O 00O

22 +ar’+br+c¢=0

(QI)DDD $1,$2,$3|:||:||:||:|,
gooooooog,

T+ T2 + T3 = —a,
T12T2 + 123 + Toxs = b,
123 = —C.
goooo. oo,
OJ3:

w' —1=(w-1) (1+w+w?)

w#10000,
l1+w+w?=0
agoo,o0d,
U= +ww2+w2w3
v =2I +w2m2 + wxs3
googd,

3,,3 2

ud +v3 = —2a% + 9ab — 27¢
u’v® = a* — 3b

000,X300000000w, »000000,000000,

—a =21 +22 + T3
X1 =u =2 +wry + wxs

Xo =v =121 +w?xs + was

000000, 71, 20, 330000

X300oOooooooooooooa,
u="uv
wx2+w2x3 :w2a:2 + wxs
(w—wh)rs + (W —w)z3 =0
Ty = T3

ooooo,

—a =1 + 222
Xozmu=v=21x; — 22

=
I

00000, 21, 22, 230000

22
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23 UO0O0OOOoobooOO

2.3.1 FerrariO OO

z* +a1x3 +021’2 +azx+ays =0

ooooo,
+2
=X —
Y 4
goooooooboooooooo.ooag,
4 pr24+qr+r=0

oooo.oo,

et =—px? —qr—r

2
Dmmyﬁ+%mmmmmimmmmmmmmmm

2, Y\ _ 2 y?
*+Z) =y-pa—q+|=—-1]) . (25)
2 4
I A A
2
q2—My—m<%~4>=0-
gooooo,00dy0bob0bobobobobo.bog,
y3—py2—4ry+(4pr—q2):0. (26)

0000oo,0000000 (25)0oooog,

BE R

ooo,
w2+y=+\/y——p<x—L> :
2 2(y—p) (27)
x2+y:— y—p(m—L
2 2(y —p)

0000000000000 00000000.000 (26)000000000000000000.
(27,27)0000000 4, 23, 23, 2, 0000,

Yy q
TI+T2=+VYy—p, T1T2 =5 + 57— .
2 2y—»p
Y _y__ 17
T3+ T4 =Y —D, T3T4 2 2 =p "

ooo,

T1T2 + 2324 =Y ,
Ty + 22— T3 — Ty =24/Y —p

00000000 (ooO0o0ooooUoooooooao.
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2.3.2 EulerO00O0O

4 pr® +qr+r=0
O,Cardano 00000000000 CO0O0O Euler00OO. OO,
r=u+v+w
ooog,

2 =u? + v + w0 + 2 (v + uw + vw) .
a:4:(u2+v2+w2)2+4(u2+v2+w2) (uwv + vw + vw)
+4 (u®0® + v*w® + v*w?) + Suvw (u + v + w).

0oo0o (28)000000,

(v +v” +w?) +4 (Wv° + *w® + 0*w?) + p (v + 0 + w?) + Buow +q) (u+v+w) +r

000 (28)0,
2(u2+v2+w2)+p:0,8uvw+q=0,
(02 + 0% +w?)” +4 (0 + u?0® +0*w?) +p (1> + 0> +w?) 41 =0

O0000oo00o0on. (w+v4+w#O,uwtuw+ovw #0)000.
god,bboobboooooo,bbboooooooo,

u2+v2+w2:—_2p,
uvw:_—q
87
2. 2 202 + 22 P
u“v u w vt = — — — .
+ 6 1

0o000,w?, 0%, 2000000
2 2
P, p- T q
3+t — - t—(—) =0,
*3 +<16 4) 8
(4)” + 2p (41)* + (p* — 47) (4t) — ¢* = 0.
00000000.0000000¢, t, t3,0000,

u=£vt, v=%Vh, w=£Vis

(29)

=0

(30)

(31)

(32)

|:||:||:|,(30)DDDDDDDDDD,uvw:%DDDDDDDDDDDD,DDDDDDD,DDDDD

googboooboo,bboobobooboob.
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00000V, VE,vE0000,000000000,000000 (2900000,

1 =Vt + Vi + Vi3,
Ty =Vt1 — Vb2 — Vs,
x5 = =Vt + Vi — Vi3,
—Vt — Vit — Vis.

T4

00000000 ()Dooooooan.
oooooooon,

\/tl = +ZE2—ZIZ3—ZIZ4,
Vit =21 — X2 + 23 — T4,
\/tl =1 — Ty — T3+ 24.

goo

16u2 = (1'1 + X2 — X3 — 1‘4)2 y
1602 = (z1 — 2o + m3 — 24)% ,

16w? = (561 — X2 — I3+ 2174)2 .

000.00000000 (32)0000000ooooooooooooooon.
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2.3.3 Lagrange 0 00O

2t +axd® +br’ +cx+d=0 (33)

(33)000 1, 22, z3, 24 0000,
goooooooo,

Ty + Ty +23+r4 = —a,
T1T2 + 2173 + X174 + T223 + T2y + T374 = b, (34)
ToT3X4 + X1T3T4 + T1X2T4 + T1T2T3 = —C,
L1X2X3T4 = d
ooooo.ooo,
u= (1 +x2) — (x3 + 24)
v= (21 +x3) — (2 + x4) (35)
w= (21 +x4) — (2 + x3)

oooo,

u? + 02 4+ w? = 3a% - 8b
u?v? + vPw? + v2w? = 3a* — 8a?b — 165> + 16ac — 64d (36)
uvw = 2a(—a® + 3ab — 3c)

000,X00000000000 u?, ¢2, w20,
X3 — (u? + 0 + w?) X + (u0? +v?w? + 0*wh) X —uvw =0

OO0000.0000000000D X4, Xe, Xs0OOOO,

U,::t\/Xl
U::t\/X2
UJ::E\/X?,
goo,0ooooon
rL+ Ty +23+T4 =—a,

(x1 + x2) — (3 + 24) = u,
(x1 + x3) — (w2 + 14) = v,

(1 +x4) — (T2 + 23) = w.

DDDDDD,ZIZl, T2, I3, 21,'4|:||:||:||:|

26



3 Uugoboboo

3.1 0ooon

000000,0000 oy +wee+wlzs0000000,0000000000000000000
ooboooboooo,0o0bboooooobo. oboob,b00bbo0oo0oo0oooboooboooooon
obooooobooooooag.

goooooo,

flz) =0
00 z1, 22, xz3 00000 o(z1, 22, z3) 00, o 0000000000000 OOOOOOOOOO
v, v, ..., s 00,000000000000000 000000000 (D0OwOOOOQOOONO).

Oo0DO0oOoDbOs2000000000000000 x4, z2, zs 00000000 0OODOOODOODOO
gbo.oooooon

X0 4 A X5+ ... +4=0 (38)

0000,00 4, 4s, ... ,A,0000 (33)000000000000000000000.0000
530000 21, 20, 23 0000000,0000000 a1, 9, 2300000 0000000000
00000 (y,00000 ¢, ¢1, ... ,p; 000000000000000000). 0000 21, 22, 73
0000000, e, ¢, ... , s 000000000000000,00 ¢, ¢, ..., ;0000000
00000000,x, 22, 23 000000000000,000 (33)00000000000,000
(38)0000000000000000000000000000. 0000000000 (33)0000
00000 (38)000000000000,000000000000,00000000000000
000000000,00000 (38)0000000000,00000000000000000,00
0000000000000 0000000,00000000000000000000000000
ooooooooo.
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000 (3®) 00000000000, 000000000000ODO0OO0OO0O0OU0LO,000OoOooOO
gooooooobooobooobooboooooooooobo. oo oboobOooD0 wbhOoo
T, T2, z3 U0 000000, 00000«00000000000000000C000O0,0000000
oboooooobooboobO.0obooooboobobooboo,w0y00b00o00o0bO0obOoo0ooonog
ooooo,000btdw=BUO0O00O0O0O0O0ODO,«000000000D00DOOO0ODOODOOOOO
ooo.

0000000 (38)0000,00 000000000000 (38)0

X0 4 A3 X3+ 46 =0 (39)

00000000000, 000 X300000000000000, ®000,000000000
¢»O00000D00000. 0 (39)000000000, wy, w0000 (39)0000000, o0
Ty, T3, 23 0000000 we, w?e00000000000. 0000000000 (123), (123)0
00000000, (p(12)=C-000,C2=100000). 00000 00000000000
000 o0 21, 22, 230000000

Y = 011'1 + ngz + 03563
goooooo,oon
Clxl + 0221'2 + 0321'3 = w(C’lxl + 0221'2 + C3£C3)

agood
03 :(JJCl, 01 :LUCz, 02 :(JJCg

oooag
Ci:Cy:C5=1:w:w?

oo0o0c,=100000

Y =x +w2562 + wxs

oboooooboooboooobooooooboooon.
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3.2 UOooon

oob0oo,00boooboooobooobooooo0oooooobooobbooooooobooo,oooonoo
oooooopooooooooob.boooon

12|34, 13|24, 1423 .

oooooonD x, z2, 23, x4 00000, 000000000000000O00O00O0CODOODOOC
oooooooo.,coogoooo

Y1 = T1T2 + T3T4, Y2 = T1T3 + T2Ty, Y3 = T1T4 + T2T3

O,y1, 4o, ys 00000 a1, 20, 73, 24 000000000000,0000000000000000
00000000000.00000y, ¥, ys00000000000000.

000,0000 y1, 4o, ys 00000, 21, 72, 23, 22, 00000000000000000
T, T3, 73, 1, 0000000000000D00000(0000O000)00000, 21, 22, 23, 24 0
00000000000000000000

up = (21 +22) — (23 +24) (= u),
us = (21 + x3) — (2 + z4) (=)

uz = (v1 +x4) — (x2 + 23) (= w) .
O000,00000000000000 —uy, —up, —us 000000

2 2 2
Uy, Uy, Ug

000y, v2, y3000000000.0000,?, w3, w200000 21, 22, 23, 40000000
0,00 wuus 000000000 2x0000000000.000

u?+ul+ui=A,
uiud +uiud +udui =B, (40)

wludul = C .
0000, w2, «2000000000
t3— At + Bt - C* =0 (41)
gooobD.00booboobod ¢, t, ts0000,
w1 = £Vt us = £/t us = £/t

0000000 (do)0ooooUooooouoooog.
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4 ODOO0OOOO0OOO

4.1 0000000 (0O0DOOOO0)OOO

googobooboobooboobobooboboobooobobooobooobooobooboboo.goob
oboocooOobooooooobobooooobobooooooboobooooo,0oboboooon

2 +ar® +br+c=0 (42)
00,00 2, 72, 230000,00000000000,

4zl +ai=a>-2b.

2_,2,2,,2.2 2 2 2 2 2
(122 + B123 + T2w3)” = XTT5 + 125 + T35 + 2(XT7 X223 + T1X5T3 + T1T2T3)

rirs 4+ 2izs + 2323 = b? — 2(—c)(—a) = b* — 2ac .

2 2

(21 + 22 + x3) (2122 + T123 + Tax3) = T1To + TIX3 + T1T2T3
2

+ 2175 + T1T223 + T2X3

2 2

+ X123 + X123 + Tox3

2 2 2 2 2 2
Tix2 + i3 + 2521 + xyw3 + 2521 + w500 = —ab — 3(x1x223) = 3¢ —ab .

(172 + 2123 + T223) (VI23 + 223 + 2523) = THTs + VivST3 + I 23
+ a::fma:g + a::fxg + x%xgxg
+ wlmgwg + wlmgmg + wgwg

rirs +aied + oind = —xiwoxs (2l + xis + 231 + 233 + 23T + T3T2)
+ b(b? — 2ac)
= ¢(3¢ — ab) + b — 2abc
=03+ 3¢(c — ab) .
ooooo,

ooooooooo,boooon

2

u? 4+ 0* = (u+v)(u? —uv +v?) = (221 — T2 — x3)(Uu? — uv + v?)

000,uw?+0°0 22 —22,—230000000000,000000000
ud 4+ 03 = (211 — T2 — 23) (220 — 1 — 3)(273 — Ty — X2)
= (3z1 + a)(3z2 + a)(3z3 + a)
= 27217273 + 9a(x1 22 + 2123 + To73) + 3a (21 + T2 + 3) +
= —27¢ + 9ab — 2a° ,
( 2,3

w = (71 + wrew’s®) (z1 + wirrwa®)

2 2 2 2 3
i + a5 + x5 + w(T1T2 + 2123 + Tows) + W (T122 + X123 + T227)

2 2 2
] + 25 + 25 — (2122 + 173 + T223)

=a’—2b—b=a>—-3b

ooo.
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ocoooopogooboooOo.ooo,00oooo0oooooooooooooboooooboooo
000000,00000000. (42)00000

D = {(z1 — x2)(x1 — x3) (22 — 3)}°
= {z122(71 — 22) + T223(22 — 23) + T123(T1 — W3)}°
= 2223 (z1 — 29)? + 2z 323 (71 — 29) (22 — T3)
+ 2323 (20 — x3)% + 2212023 (T2 — 3) (T3 — 21)

+ xfxg(afg — x1)2 + 23:%1*21*3 (3 —z1)(T1 — 22)

ooo

a=zizd(z) — 22)? + 2323 (w2 — 23)? + 2025 (23 — 11)?

B =xixiw3(x) — x2) (22 — 3) + T1T273 (T2 — x3) (23 — 1) + 2T T2w3(T3 — 71)(T1 — T2)
oooo

a = zir3(a® — 2b — 23 — 23170) + w325 (a® — 20 — 2% — 22923) + 2325 (a® — 2b — 23 — 221 73)
= (a® — 2b) (2223 + 2522 + 2722) — 3aixdel — 2(x3as + xdad + 23ad)
= (a® — 2b)(b* — 2ac) — 3c* — 2{b® + 3c(c — ab)}
= a’b® — 2a%c — 4b* — 9¢% + 10abc ,
B = mixozz{r2(r) — 22) (72 — 23) + 23(T2 — 23) (3 — 71) + 21 (23 — 71) (21 — 72)}
— =x{m129 — 7123 + ToT3 + 23 + a:§ + (2b—a?)}
+ z3{T2w3 — T129 + 1123 + 2% + 23 + (20— a?)}
+x1{T123 — 223 + T120 + 25 + 22 + (20— a?)}
= 2(3:%3:2 + $%$3 + 171:17% + w%xg + x1x§ + w2x§) — 3z120w3 + (20 — a®) (w1 + T2 + x3)
=2(3¢ — ab) + 3¢ + (2b — a*®)(—a) = 9¢ — 4ab + a®
B = —9¢® + dabc — a®c
gooono

D=a+28
= a?b? + 18abc — 4b® — 4a®c — 272

ooo. oo
2 +ar+b=0

0Do0O00o00ooo
D' = —4a® — 27 (43)

ooo.
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4.2 0000000 (0DODOOOO)OOO

gboocoooboboooooboobooooboobooboooooobooboooooboOobooooOo.bo
goooooobooooobogooooboobooooooboooboooobobo,oboo oooopoo,

f(z) = apz* + da12® + 6a22% + daszr + a4 =0 (44)
00000, y1, ¥, y3 000 uy, us, u3 00000000, OO

2
ur = (w1 + @2 — T3 — T4)

(
(z1 + 22 + 23 4+ 24)* — 4(y2 + y3)
(z1 + 72 + 23+ 24)° —4(y1 + Y2 +y3) + 4y

16a 24a
_ 21 B 2 L 4y,
%) ao

000000000,«2000 y000000000000,00000000000,00000000
oooooooboob.boboooobooboboooooboboooooboDbo

6a
(11 +yz+ys)—3y=—a2 -3
0

oboooooobooooooobo.0oobo,0booooboobOobobO,0b0oboboboooooboaon
gooooooaa.
ooooooog

1 a
er = 1(202 —apy1) = 1—;(?/2 +y3 —2uy1) ,
1 a
ey = 1(202 — apy2) = 1—;(?/1 +y3 —2y2) ,
1 ap
- 2 (2a0 — " — 22) .
es 4( az — aopys) 12(:1/1 +y2 — 2y3)
oooo,
= s — 1) — (g — )}
€1 = 12 Ys — U1 Y1 — Y2
ooo,o0,

Y2 — Y3 = T1X3 + T2Xy — T1X4 — T223

= (21 — @2) (23 — 24)
1, T, @3, 24000 (23900000, 1, yo, ys 0000000 (123) 000000, 00

v1 = ag(71 — 22) (73 — 74) (= ao(y2 —y3) ,
vy = ag(z1 — x3) (24 — 32) (= aolys —y1) , (45)

vy = ap(z1 — z4) (22 — 23) (= ao(yr —y2) .
ooogag

(UQ - 1)3) )
(v3 —w1), (46)

(’U1 — Ug) .

e =

€y =

e N
to|"‘ w|"‘ w|"‘

€3
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(45) 00
v +vy4+v3=0 (47)
googono
VP + vl +U§ = —2(v1v2 + v3v1 + Vav3) (48)
0000000 2, 29, 23, 1, 0000000. 000
v+ 03 + 03 = 24y, (49)
000. (nvws)?0 (45)0000000,000000000000.000
v1vav3 = 16VA (50)

000.0000 (44)00000 256 00000000,26000000000000,000000
00000000,000000000000000000000000000O,44)0000000
00000000000000000000000000. (47)(48)(49)(50) 00, vy, v, v 00000
0oo000000.0000

v® — 12950 — 16V/A =0 (51)

viag(z1 — x2) (w3 —x4) 000, 21, 2, 3, x4 1000000 fuy, vy, 2o 00000000000
|:||:||:|,(51)|:||:||:||:|DDDDDDDDDDDDDDDDDDDDDD,\/ZDDDDDDDDDDDD
00D0. 0000 v, v, 00000, 46)000000000,0000 21, a2, 3, 24 00000
0o. o000,

(v1 = v2)(vs — v1)(v2 — v3) = 43293 (52)
0000,00000 (1)0000000000, ()
(432y3)? = —4(12y2)% = 27(16+/]A)?
oooo
A =y3 —27y3? (53)

000000000000000AQOODO,000y, ys0000000.
00, e, €2, s 0000000000000000

e1+e+e3 =0

ooooo,
e% + e% + eg = —2(e1es + e1e3 + eze3)
00O00O0, 460000,

1
el +es+e;= T (vy —v3)? + (v3 — v1)* + (v1 —va2)?},

= 144{22vk 2(v1v2 + v1v3 + vou3) }

1 3 y2
:144 32"’“ 4_Z =g
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ooo

Y2
ei1ez + erez + ezez = T

00 (46), (52) 00
Y3

1
€1€2€3 = E432y3 = Z

ooooooooooooooao
4e3 —yse —y3 =0 (54)

ooo.
231Ferrari0 00 00000O0DODOOOOOOO0OO0,0D0000000O0DDOOOO0OOOOO.
O0ee0O0O0OoOoOoO,D0000O00ODODOn.

f(z) = ao(z® + 2pz + q)(2* +p'z + ¢)

0000,00000000 =, 22000 23, 24,0000, (44) 00000000

ao(p +p') = 2a (55)
ao(4pp’ +q +¢') = 6ay (56)
ao(pq' +p'q) = 2as , (57)
aoqq = ay . (58)
Oogd
q+q =220 + 2324
oo
ao(q+q') = 2(az — 2e) (59)
00O (57)00
aopp’ = 2(az — 2e1) (60)

(56), (60)0000,p+p 0 ppy 1000000000,000000000000000000O00O0
0.000000,00000000000000e00000000,000000

f(@) =ao(2® +2p1z + q1)(2® + pro + )

000000000000000. 0000000000 21, 23000 29, 240000, 21 0 224 2pz+q =
00 22+ 2pz+¢=000000000,000000000000000000000. 000,00
0000000000 2, 23, 2400000

00000000000000,¢, 00000000000, ¢, 000000000000, (49)
0(52)0000000.
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5 Uoooboon

oood

e 0ODODOD,
gooooooooo,
apx™ + a1zt 4+ a2+ 4 a,
oooooooo.ood, a, a1, .. ,6,000 (ap #0), 200000, ag, a1, ... ,a, 0 0
gooooo.

e JOODODOODOO,
oobO0ooboooooooboo,=00000:0000000.00000,0000000D0RO
gooooooa.

e 00ODODOODO,
000000000,0000000(00000000000)00000000000.

googbooobooboobboobooboobooobooboon.

6 0o

goood,dobodooo, oo ooooob. oo, o0o0bbuooooog
gdobooooooboooooao.

oodobooooo,0jgdboogob, 000000000000, boooDbooobooooo
oo, 0bo00db0bobobooobo00oUbO,00ob00o0obbooUubbooobobooooo
ogoooood.

00000,000000000000000000000(00000000000000000O0O0
00),000,00000000000000000000O. UO00O0D0DO0OO0O0ODUOOoOOoDUOoOOoo
ooooooooo. oo, oobobobbooooooooo.

50000000000, 0000000 30000000000, 40000,0000000 20
00000000000Ooo0Oo. ooOg,s!=120000000000 z,20...,zs 0000000
o(z1, T2, T3, Tg, T5) =121 + 2o+ 323+ 4y +cx; OO0, 00 12000000 2, 3,4000
0 (000000000,400000,00000000000000,2,30000)00000000
0,0000,t=1,t=1,°=10000,

X120 + a60X60 + a120 = 0
X120 + a0 X3 + ago X*0 + a150 = 0
X120 + a30X90 + (130X90 + a60X60 + (IgoXSO + @120 = 0

oo,
@ =121 + caa + 313 + caxq + csxs = p(caxy + c3T2 + Ca3 + C5T4 + C1T5)
C1 = PC2, C2 = PC3, C3 = PC4, C4 = PC5, C5 = PC1

000, =10000,
cricoiesicaces=1:pt:p>:p%:p

ooo.
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=1 #0000,

01:02:03:04:05:1:t38:t36:t§4:t%2

oo,

Y=z + t§8x2 + t%ﬁl’g + t§4x4 + t%2a:5.

(12)p = x5 + t52x1 + t3%z3 + t31 2y + t322s

(13)p = x5 + t§8$2 + tgﬁl’l + t§4l‘4 + t521‘5

t32(13)p = @2 + t3°x1 + ty a3 + 3074 + 3 75.

(14)p = x4 + t381’2 + t§6x3 + t§4x1 + t%2x5
152(14)p = w2 + 1301 + t3323 + 13724 + 13125

(15)p = x5 + t38$2 + tgﬁl’:g + t§4l‘4 + t%21‘1
t52(15)p = @o + 13y + t5°23 + taomy + th21s

t32(12)p = o1 + t57xo + ty w3 + 130wy + 13125,

132 (13)p = o1 + 320 + t3 2z + tyowy + 3015

t30(14)p = zy + 124wy + t1225 4 3024 + t3325

31 (14)p = @3 + t3°71 + ty°as + t3 s + 3075,

t33(15)p = o1 + 302y + t3as 4+ t1224 + 3825

t34(15)p = m3 + 301 + t3220 + tyomg + 15115
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